JO00I1Imoodoond #11 20060 10 190

1] 00
A={(z,y) |2 +y*+22 <4, 22 +y* <22, 2 >0,y >0, 2 >0}
doooooooobooon

()00 ADDDO0OO

() 00000 DOOOODO

3)000000 2= f(z,y) 000000

400 ADDDODDOOODO

(5)00 AODDOOOOOOOOODO

[1I] OO
A={(r,y,2) 2> +y* <1, 0<2<2,2>0,y >0, }
Oo0oooooooooon

()00 AODODOOog

(2) 00000 pOOOOO

(3) 000000 z=f(z,y) DOOODODO

(400 ADODDODOOO

()00 ADODODODOOOOOOO

[1II] 0oo0ooO0ooooo
1)/9[; +y?)de+2zydy0 CODO (2,1) 000 (5,-3) 00000000

Q

2

2
/ydx—xdyDC’DDD %erz—lDDDDDDDDDD

—_du+ -dy0C0D0000D00000000

r2+y? 2?4y

/(e“ +y)de+ (1P +2¥)dy0CO0000000000000
C




